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Part | Listening Comprehension {15 minutes)
Directions; This part is to test your listening ability . It consists of 3 sections ,

Section A
Divections: This section is to test your ability to understand short dialogues. There are 5 recorded dia-
logues in it . After each dialogue, there is o recorded question. The dialogues and questions
will be spoken ondy once . When you hear a question, you should decide on the rorrect answer
from the 4 choices marked A}, B}, C) and D} given in your test paper. Then you should
mark the corresponding letter vn the Answer Sheet with o single line through the centre .
Example: You will hear .
You will read: A) At the office.
B) In his own house.
C) On his way to work.
D) In the hospital .
From the dialogue we can learn that the man is al the office therefore, A) At the office . You
should mark A} on the Answer Sheet . Now the test will begin .

1. A) In a department store B) At the airport
C) In a fest-food restaurant D} In a post office
2. A) 978 - 2048 B} 986 - 2048
C) 887 - 2345 D) 9860248
3. A) the train didn’t leave at ali. B} the train left at 11:30.
C) the train left at 12:30. D) the train left after 12:30.
4. A) drink some hot water. B) meet Walter when he arrives.
C) want some hot water for hath, D) like to take a bath in coid water.
5. A) Get woman another cup of coffee. B) Go to the eoffee shop.
C) Get a cup. D) Get 2 glass.
Section B

Directions: This section is fo test your ability to understand shori conversations. There are recorded conver-
. l .
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sations in it . After each conversation , there are some recorded questions . The conversations and
guestions will be spoken only once . When you hear a question , you showld decide on the correct
answer from the 4 choices marked A), B}, C) and D) given in your test paper. Then you
should mark the corresponding letter on the Answer Sheet with a single line through the centre .

Conversation 1

6. A} Because she forgets to bring the man her pen.
B) Because she can’t keep her appointment with the man.
C) Because she is late for their appointment.

D} Because she gives the man so much trouble,

7. A) Because she doesn’t like the place. B) Because she is homesick.
C) Because her father asks her to come back. D) Because she is ill.

Conversation 2

8. A) Colleagues B) Friends

C) Brother and sister D) Hushand and wife
9. A) 20 years B) 19 years

C) 30 years D) 40 years

10. A) David and Margaret once worked together. B) Margaret’s mother likes David very much.
(.} Two old friends met unexpectedly. D) David and Margaret used v go o school everyday.

Section C

Directions: This section is to test your ability to comprehend short passages . You will hear a recorded pas-
sage . After that you will hear five questions. The passage will be spoken two times . When
you hear a question , you should complete the answer to it with a word or a short phrase . The
incomplete answers are printed correspondingly in your test paper. You should write your an-
swers on the Answer Sheet . Now this is the passage .

11. It is about
12. Arns, science, laws eic. could
13. Our ability to communicate has led us
14. Most of us learn to talk
15. Language is such an important part of human existance that

Part 1 Structure (15 minutes)

Dircctions: This part is to test your ability to construct grammatically correct sentences. It consists of 2

sections .

Section A
Directions: In this section , there are 10 incomplete sentences. You are required to complete each one by
. 2 .
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16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

deciding on the most appropriate word or words from the 4 choices marked A), B), C) and
D). Then you should mark the corresponding letter on the Answer Sheet with a single line
through the centre .

Yon can {ly to London this evening you don’t change planes in Paris.
A) except B) provided
C) unless D) as soon as

finished his homework, he had to stay at home.

A) Having not B) Not having

C) Being not D) Having not been
Five minutes earlier, We could have caught the lost train.
A} or B) but

C) and D) so

When we reached the station, the train had still not arrived; so we

A) need not to hurry B) needn’t have hurried
C) need not to have harried D} did not need to hurry
Each man and each woman __ to help.

A} are asked B) is asked

C) were asked D) is asking

If the doctor had been available, the child ___

A) would not die B) would not have died

C) could not die D} could not have been died
Whenever Tom knew 1 was in trouble, he always lend me a hand.
A) could B) might

C) would D) should

My mother and [ drove in, not knowing the building we were looking for.
A) where B} who

C) which D) what

She can't be interested in the lessons, that she always arrives late.
A) viewing B) seeing

C) see D} judge

He'll be very upset if you tum his offer of help.

A) away B} from

C) down D} back
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Sectjon B
Directions: There are 10 incomplete statements here . You should fill in each blank with the proper form of
the word given in the brackets . Write the word or words in the corresponding space on the An-

swer Sheet .
26. He should be {delight} to hear the news.
27. Poor old Paul had a lot of money (steal} while he was on hoeliday.
28. The reference book you had lent me {resalve) all my difficulties.

29. Those days people throughout the worid were looking forward to the day of victory with great (eager)

30. What he said made me (feel) uneasy .

31. He has paid {consider) _ attention to the situation in the Gulf.

32. The last major {occur) of this kind of disease was in 1948,

33. If only I {have} some aspirins, [ should be able to get rid of this awful headache.

34. My parents’ health and (secure) are of the most importance to me.

35. They vegret {inform) us that the computers we ordered are aut of stock.

Part [f Reading Comprehension (40 minutes)

Directions: This parnt is to test your reading ability, There are some tasks for you to fulfil. You should
read the reading materials carefully and do the tasks as you are instructed .

Task 1

Directions ;: Afier reading the following passage , you will find 5 questions or unfinished statements, num-
bered 36 through 40. For each question or statement thore are 4 choices marked A), B), C)
and D). You should make the correct choice and mark the corresponding letter in tho Answer
Sheet with a single line through the centre

A certain lawyer lived in a city in the north of India. One day he had his photograph taken. In the
photograph he appeared wearing English clothes, coat, waistcoat, trousers, boots, collar and tie. And
over them was his lawyer’s gown, And his two hands were in his trouser pockets.

He was pleased with the photograph, and used to show it to his friends. All of them praised it, and
said it was very good and very life-like.

One day he was showing the photograph to some of his friends in his office. As they were looking at
it, a Pathan (§A# A ), who had just appeared in a case, came in.

He also locked at the photograph, and they asked him how he liked it.

“Not at all,” replied the Pathan. “It is not at all life-like.”

“Why? What is the matter?” they all cried.“We think it a very good likeness. What fault do you
find with it?”

“Well, just look at it,” he replied. “Where are the man’s hands?”

“They are in his pockets,” said they.

“In whose pockets?” asked the Pathan.

“In his own, of course,” replied they.

« 4 -
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Well, that is just where the picture is wrong. [ know it to my cost. His hands should be in some-
one else’ s pockets.”

36. The lawyer worked in
A) a city in the north of America B} a town where Pathans lived
() a city of India D} a town in the north of India

37. From the passage we may infer that .
A) the lawyer was good-looking but he didn't come cut well in that photo
B) the lawyer was a good-natured gentleman who knew how ta take & joke
C) the lawyer’s greed led him to charge his clients( 23 A )far too much
D) the lawyer was found to have stolen from people’s pockets

38, The Pathan
A) played a joke on the lawyer B) found cut what the lawyer was really like

C) tried to tumn the lawyer’s friends against him D) was always finding fault with lawyers
39. The Pathan leamed where the picture was wrong from _
A) the lawyer’s friends B} his own experience

C) the lawyer's clients D) the lawyer himself

40. The word “life-like” in the second paragraph means

A) alike B) living
C) like good-locking person D} very much like the person presented
Task 2
Directions: This task is the same as Task 1. The 4 questions or unfinished statements are numbered 41
through 45.

Economists have developed a model called pure competition to describe how buyers and sellers would
interact in the market under perfect conditions. Pure competition is a standard that will be used in Chap-
ter 5 to evaluate the behavior of the other less competitive market structures that characterize the private
market economy .

The purely competitive market model is based on two major assumptions. First, we assume that there
are many households and many small firms in the market acting independently of each other in their deci-
sions 1o buy or sell. Second, each firm in a given industry is assumed to produce an identical product.
For example, all the wheat produced by farmers is assumed to be of exactly the same quality. The result
of these two assumptions is that the individual firm or household has no control over price. The price of
the product is determined by the interaction of many buyers and sellers in the market, not by the decision
of any single firm or household .

Why is the purely competitive firm not able to increase or decrease the price it charges for its product
relative to the market price? Suppose that Joe decided to raise the price of pizza above the prevailing price
charged by other pizzerias. Consumers would react by not buying pizza from Joe because they could get the
same product elsewhere at a lower price. On the other hand, it would not be rational for Joe to lower his
price below the price charged by the other pizzerias. He can sell all the pizza he wants to sell at the going

5 -



R ZHEERARE 5

market price because his pizzeria is small relative to the overall industry. Therefore, the purely competitive
firm is a price taker, not 2 price maker,

The best examples of purely compelitive industries are farming and some financial matkets such as
money market funds and checking accounts. Although many of the examples 10 be used do not strictly ad-
here to the purely competitive model because the products produced are not identical, they are all examples
of highly competitive industries. The implications of imperfect competition are discussed in Chapter 5.

41. What does “Chapter 5" mentioned in the first paragmph most probably discuss?
A) The perfect conditions that make up pure competition.
B) The evaluation of the behavior of buyers and sellers.
C) The characteristics of the markers that are under imperfect conditions.

D) The charactenistics of another kind of pure competition.

42. The word “assumptions” in paragraph 2 refers to )
A) suppositions B) theories
C} competitions D) evidences

43. According to the passage, the price of the products in a pure competitive market are determined by

A) the decision of the buyers B) the decision of the sellers
C) the decision of the economists ¥} the agreements between the buyers and sellers

44, Why wouldn't Joe lower his price of pizza?
A) Because people will think his pizza is not as good as others’ .
B} Because his change will have little influence on the price of the whole market and he will lose
money .
C) Because all the other pizzerias will lower their prices and he cun get no benefit from it.
D) Because all the people will come 1o buy his pizza and he won't have enough material and time to

prepare for them.

45. The title which best describes the content of the passage is .
A) Buyer and Seller B) Production and Consumption

C) Pure Competition D) Market Economy
Task 3

Directions; This is another short passage. After reading it, you are required to answer the following
questions or complete the unfinished statements (No . 46 through 50) You should write your
answers briefly in the Answer Sheet correspondingly .

Advertisers get psychologists to study the way consumers think and their reasons for choosing one
brand { 5 5#) instead of another. These experts inform advertisers about recent studies with colors and
words. They have found that certain colors en the package of an attractive product will cause people to
reach out and take that package instead of buying an identical product with different colors.

Many people believe that advertising does not affect them. They like to think they make wise choic-
es. Unfortunately, they probably don”t realize the powerful effect of advertising. They may not clearly

B
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understand that advertisers spend billions of dollars each year in competition for our money, and they are

extremely successful .

If you want consumers te buy your product, your should first know 46

Advertisers get information about recent studies with 47 from 48

People will buy a certain product because of 49

Aadvertising hasa _ 50  on people although many of them don'1 think se.
Task 4

Directions: The following is a list of useful phrases . After reading it you are required 1o find out the Chi-
nese equivalents below ( number 51 through 55} and then put the corresponding letters in the

brackets in the Answer Sheet .

A—meet the standard F—including batteries
B—balance foreign exchange J—with considerable leverage
C—measurement technique K—subject to direct sunlight
D—account Jor L—in any condition

E—take heights and weights M—economize on fuel
F—derive from the Latin N—bid deposit

G—isolate a phencmenon {)—tender sum

H—operate from the ground

Example: (L)t $7 10 (H) B TR B G0
51.( YREEMEE ( YRAFRYE WA
52.( YEIEE ( Y ERE
53.( YRR UE S ( YRR BB
54.( )is B ( Y e
55.( VERZRKBAEH ( PR T4\

Task 5

Directions: There are twe BUSINESS LETTERS here . Afier reading the letters you should give brief an-
swers to the 5 questions (No. 56 through No .60) . The answer should be written after the

corresponding numbers on the Answer Sheet .

Letter One

Gentlemarn, April 25, 2000

Our Order No.xsl — 548

We have instrucied the commercial Bank of San Francisco to open a letter of credit for US $ 33 969
in your favour, valid until December 25. The credit will be confirmed by the Bank of China, who will ac-

cept your draft on them at the sight for the amount of your invoice.

The documenis required for negotiation are:
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3 Commercial Invoices
2 Bills of Lading
Insurance Policy
Yours faithfully
Continent Textile Company
(CTC)
Letter Two
Jan. 7th 2001
Commercial Bank. China
Gentleman,
Your order xs1 — 548 US $ 33 969
We have informed you that we have received the letter of credit above today, but 18 days after the
expiry date, i.e. Jan. 7th, 2001
Please pass the information above to the issuing bank, who may wish to contact the openers and

make arrangements for an extension of the credit to your cliens.

Yours truly

56. What are the two letters about?
57. What's the purpose of Latter Two?
58 . How about the letter of credit for US $ 33 969, When it is received?

It is
59. What are the documents required by CTC?

They are
60. Which bank can make arrangements for an extension of the credit?
Part V Translation — from English into Chinese (25 minutes)

Directions: This part is to test your ability to translate English into Chinese. There are 4 sentences,
numbered 61 through 64, and a short paragraph ( No .65) in this part . Write your transla-
tion in the corresponding space on the Answer Sheet .

61. This method is widely used for cooling and heating.

62. Marriage is also considered an accession of great rejoicing in the West as in China.

63. Here are some examples of the things that a well-mannered person does or does not do.

64. Even though the number of school bus accident is not large, the safety of children is always of intense

public concemn.

65. A) During these twenty-eight years wars and revolutions had come and gone in Europe, Monica’s

« 8 -
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uncle, Stanley Baldwin, had guided the destinies of his country for some time.

B) Technical developments had zltered the conditions of everyday life almost beyond recognition, but
all these evenis had left as a matter of fact untouched the small religious community to which she had
belonged .

A:

Pact V Writing {25 minutes)

Directions: This part is to test your ability to do practical writing . Here is an incompleted poster . Com-
plete it by pusting the Chinese in it into English .

Situation;
1. Introduce your friend to Miss Liu, the manager of a company.
. to visit some important equipment from Japan.

2
3. ask for some matenals about it.
4. using the words about 80.
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Part [ Listening Comprehension (15 minutes)
Directions: This part is to test your listening ability . It consists of 3 sections .

Section A

Directions: This section is to test your ability to understand short dialogues. There are 5 recorded dia-
logues in it . After each dialogue, there Is a recorded question . The dialogues and questions
will be spoken only once . When you hear a question, you should decide on the correct answer
Jrom the 4 choices marked A), B), C) and D) given in your test paper . Then you should
mark the corresponding letter on the Answer Sheet with a single line through the centre

Example: You will hear.

You will read: A) At the office.

B) In his own house.

C}) On his way to work.

D} In the hospital .
From the dialogue we can learn that the man is at the office thergfore, A) At the office. A)
You should mark A) on the Answer Sheet . Now the test will begin .

1. A) Jason isn’t at home right now. B) 'The caller dialed wrong number.
C) Jason can’t answer the phone. D) Jason disliked to speak to the caller.
2. A) Clerk and customer. B) Student and teacher.
C) Client and lawyer. D) Patient and doctor.
3. A) Please sit down. B) She doesn’t want him to sit down.
C) She will mind if he sits down, D) She doesn’t want him to sit with him.
4. A) At the office. B) At a restaurant.
C) At a phone booth. D) At home.
5. A) They were classmate. B) Marry was Jim's manager.
C) Mary ate less. D) Jim wanted Mary 1o eat more.
Section B

Directions: This section ts to test your ability to understand short conversations . There are recorded conver-
sations in it . After each conversation , there are some recorded questions . The conversations and
questions will be spoken only once . When you hear a question, you should decide on the correct
answer from the 4 choices marked 4),B), C) and D} given in your test paper. Then you
should mark the corresponding letter on the Answer Sheet with a single line through the centre .

- 10 -
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Conversation 1

6. A) Because she has to meet other friends.

C) Because she has a meeting.

7. A) Jack invited his friends to dinner.

C) lack’s friends prepared a dinner for him.

Conversation 2

8. A) 8:30
C) 10:30
9. A) Eanry

C) In the moming

10.A) Because the weather is fine.
() Because he would sit by the window.

Section C

B) Because she is tired.
D) Because she thinks it’s late.

B) Jack and his friends had a discussion .
D} Jack and his friends had a meeting.

B) 930
D) 11:30

B) Late
D) an hour early

B) Because the trip is good.
D) Because he has a trip with a woman.

Directions; This section is to test your ability to comprehend short passages . You will hear a recorded pas-
sage . After that you will hear five questions. The passage will be spoken two times . When

you hear a question , you should complete the answer to it with @ word or a short phrase . The

incomplete answers are printed corresponding in your test paper. You should write your an-
swers on the Answer Sheet . Now this is the passage .

11. My mother was a

12,

13, He usually took us

14. He brought home

to each of us.

15. The way.

Part I Structure

{15 minutes)

Directions: This part is to test your ability to construct grammatically correct sentences . It consists of 2

sections .

Section A

Directions: In this section, there are 10 incomplete sentences. You are required to complete each one by
deciding on the most appropriate word or words from the 4 choices marked AY,B),C) and
D), Then you should mark the corresponding letter on the Answer Sheet with a single line

through the centre .

16. | wish to call on you tonight, ?
A) shall 1

B) don’t [
- 11 .



